4.4 Day 1.notebook January 17, 2024

Warm up
Find the trig ratio for the following:
. T /4 Vs
1. sin— 2. Ccos— 3. ¢sc—
3 4 6
4. tan30° 5. sec45° 6. cot45°

Find 8 in degrees.

1 2

7. sinf =— 8. cscld=—

J2 NG

1

9. cot6’=\/§ 10. cosH:E
Jan 4-3:55 PM

4.4 Trig Functions of any angle Day 1

¢ _ _ T
R ) trig ratios for angles > 90 or 5
A
w8 ASTC Coker = 4245

»" «"Quadrant angle values h“—l(—;‘{‘gB
\ K{y\ :
¥ What quadrant am | in? \
Fan15
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acute angles

So far we have talked only about trig ratios of

. What if the angle | want to

evaluate is obtuse?

T 1
Remember that on the
unit circle
: " (x,y)=(cos@, sing)
= (adj side, opp side)
oo Y W (¥
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with the x-axis

Step 3: Find the ratios

Step 1: Draw a triangle

Step 2: Find the third side

Example: Let (5, -12) be a point on the
terminal side of angle @, find sing, cosg, tan

sng =smp = %
Cos® “CxO =
und = fond' = ‘lsz—
Jan 4-4:.05 PM
ASTC ngA‘DE NTs Ay ”LL
= i smb + Sme *
(X, y) = (cos @, sinb) —— T
= (adj side, opp side) feno — | R
Sing - SInp -
......... = tan 9 fn ® + np -
coso TAKE CHUALYs_
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Remember:
(%, y) = (cos@, sing) y
= (adj side, opp_side) (0,1)k b
and tma:%:zzg
%\AO\dYGn-l'
angle,s =
ng\es oh
OXCS
- O
(-1,0) (1,0)
37 (©,-1)
L‘r
Jan 11-2:00 PM
»e)
(x.y)=low %, 1y
— " | 0,360 or 270 or
—1__ 90 orm/2 | 180 or 1
GO 0 o,2m 3m/2
0+
\ cos 6 | ®) - | ®)
0 tan 6 O und ) LWnd
S =uw
csc® | und \ Lnd ~ |
_: =L sec 6 \ whd - Und
cot 8 und 0 Wnd 0
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What quadrant am | in??

- sind>0 tanfd>0 = T
@ I @ o Cot - lrl—

- cosf<0 sind<0 > 11
— -\-an"' - Sinw_

o U n s
- secd<0 cotd<0 ok T = % =%:m\d
(0s® <0 Funb<¢O 2L

o QU
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find the remaining 5 trig ratios (values) given:
: 4
sinf=-—, cosf<0
5 -
-3
ez T @® 3
snP=Sind =776
Cosd = CosS® 7 g
g =fund' = &
Cseo' =~ 2 ’ \QIII onI\/ +no ¢ its
- \’Q.(Af’l'()cd c,o+e
R are positive !
e d L 4
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HOMEWORK
p 294
1-21 odd, 29-36 all

Feb 2-9:51 PM

i Exerise 1520, possibl e complement sl
et of the o,

ulato 1o evaluate cach
four decmal places (Be
ure the calcultor i n the correetangle mode,)

7. @) sinar ) consT

g 7L

. @ e 12 ) et

0. (0 cos 507257 (0 sec 50257 Wrkooak Anevers

B 1 7Tndm 2 1299 radsec

o1 @ o o 3 10184 revimin da. 1429 missc

CRRpT @ o125 . 2116 cmisec
S0 S2memsec 6. 10872 e
S0, 873 cmisac
7. 17astsec 6. astet- outside

9 722258 men 10, 72029 ouimin
4.1 Linear & Angular Speeds WS #3

d the 2 point
of the wheel,

2 turning
minute,

3. Determine the number of revolutions per minute of the wheel otating 151rad/s.

speed of a p 3 d
from the axis of rotation
Ar13m  Asdsnradfs  B)r=9.2cm  AS=23radfs
units that moves
through an angle 8 n 1 min, Express answer in cmys
Ar=72em 0=1anrad B=1am 6250

6. 1fan engine is making 1000rpm, what is the angular speed of the engine’s crank shaft In
radians/sec

7. A Ferris wheel 250 ftIn diameter makes one revolution every 45 seconds. Determine the.
linear speed of a car on the rim of the wheel.

horses deep. the
fastestride? For the slowest?

earth's surface, Find its linear speed in
mph (the radius of the earth s approximately 3960 mi).

10. Acaris moving at a speed of 65 mph. the dlameter of the wheels I 2.5 ft. Find the angular
speed of the wheel I radians per minute and find the number of revolutions per minute
the wheels are rotating,
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